Improvers’ Lesson 10: More on Doubles

Board 1 4642 Board 5 & AK963
North Deals ¥ 632 North Deals ¥ QJ6
None Vul ¢+ Q8 Lead: # A N-S Vul ¢+ KQ Lead: v A
& 109432 & Q82
«J10 N 4 AKQ85 West's double indicates o — N 4 QJlo4
vy KQ85 w EIN AJ74 points but no suitable bidto |v K9754 w eIM A83 East has an easy penalty
¢ 10532 S ¢ K764 make as they are not strong | ¢ 10832 S ¢ A965 double holding two aces
Q85 & — enough to bid at the 2-level. |# 10965 73 and a good trump holding.
49073 48752
v 109 East's jump shows 16+ so v 102 East should lead out the
¢ AJ9 West bids to game, ¢J74 two aces and then sit
& AKJ76 knowing they have a fit in & AKJ4 back and wait for their
West North East South hearts and enough points West North East South  trump tricks.
Pass 14 2% for game. le Pass 24
Dbl Pass 3y Pass Pass 3e Pass 44
4v All pass Pass Pass Dbl All pass
Board 2 & K94 Board 6 4 987
EastDeals v 72 EastDeals ¥ Q1063
N-S Vul ¢ 7632 Lead: v 9 E-W Vul ¢ K107 Lead: ¢ 6
«AJ109 Q93
& J87 N 452 South is too strong to 542 N 4 QJ3 A double of the 1NT is a
v 954 WS Y AK QJ86 overcall1+.Doublingthen |v J84 w clM 9752 penalty double. It shows
¢+ Q98 S ¢ 105 bidding a new suit, ¢ 9432 S ¢+ AJS8 16+ HCP. If the partner of
#8632 Q54 promises 16+. &542 * KJ6 the doubler has a very weak
4 AQ1063 & AK106 hand with a long suit, they
v 103 North invites and South is v AK should bid that suit,
¢ AKJ4 happy to accept. ¢+ Q65 otherwise pass.
& K7 & A1087
West North East South West North East South NS have the balance of
1lv Dbl INT Dbl the points and 1 NT is
Pass 2% 2y 24 All pass not likely to make.
Pass 3e Pass 44
All pass
Board 3 4 10863 Board 7 & J3 Lead: v A
South Deals ¥ J9542 South Deals v A
E-W Vul ¢ A52 Lead: v 2 Both Vul ¢ AQJ109 East has a perfect
&4 & A10963 takeout double over 1 ¢ .
3N N 4 Q542 North bids 2 # beingaweak | # 6542 N »+ AKQ8 West bids 1 # as the
v K763 w EIN A 10 Stayman which promises at | v 42 w eIM KJ86 hand is not strong
¢ Ql097 S ¢+ 83 least 5/4 in the major suits. | ¢ K8752 S ¢ 4 enough to bid 1 NT.
*AT762 *#KQJ95 *J7 & KQ52
& AK97 East doubles the artificial & 1097 East, who has a good
vQ38 bid to show they have clubs vy Q109753 hand, competes to 3 &
¢ KJ64 and an opening hand. ¢+ 63 over 2 &. West passes.
& 1083 & 84 The ¢ K is worth nothing
West North East South West has a good fit and West North East South  as North is sitting over
1INT bids 3 # in support of Pass the king with a good
Pass 2% Dbl 24 partner. Pass 1e¢ Dbl Pass diamond suit.
3% All pass le 2% 34 All pass
Board 4 & A7 Board 8 4« Q7643
WestDeals v AKQ4 Lead:v 2 WestDeals ¥ 9876
Both Vul ¢ K62 None Vul ¢+ 6 Lead: v K
& K104 3 North doubles and then & KJ3
4 KQ2 N 4 J6 rebids 1 NT to show 19+ & A9 N & J2 As there are only two unbid
vJ98732 w EIN 5 HCP. v AJ54 w eIM KQ102 suits, South's double shows
¢+ Q10 S ¢ 987543 ¢ A10 S ¢ 98743 at least four cards in the
& AJ #9765 South, with 7 HCP, has & Q10765 & 84 each of those unbid suits.
41098543 enough for game and bids 4 K1085
v 106 4 « . South knows there is a v3 If South overcalls 2 ¢
¢ Al spade fit as North is ¢ KQJ52 instead of doubling, the
«# Q82 balanced and must & A92 spade fit will not be found.
West North East South therefore have 2 spades at | West North East South
lv Dbl Pass 1le least. 1l Pass lv Dbl
Pass INT Pass 44 2v 24 Pass Pass
All pass 3v 3e All pass
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